1 = IR

T (ER) XKetEoH Wiz H>NT

il

(ER) HEFEBOARIZE VMY E-FHRIT. BRI
R 2 G BN 5720, BEERIOFHIZHT- > Tit,
va— RE{To A ITENCB T 25 1 IRFIHICES & D
 AEEEIZEDOT [E=22~0RMIT748] ZIiT7b2\2

=3
=n

2
U
L

i H

e\

O

0 IR



1/

2)

1/

8)




2/

2)

6,034,600

5,486,000

548,600

2/

8)




1/

3)

3/

8)




2/

3)

1 5,486,000
2 3,566,000
3 2,438,000
4 1.000 2,096,000
5 342,000
6 1.000 44,000
7 1.000 0
8 93,000
9 1.000 93,000
10 1.000 0
11 1.000 0
12 1.000 205,000
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2,096,000
.000 2,096,000
.000 2,096,620
.000 2,096,620 2,096,620
.300 km 76,121 98,957
.300 km 80,584 104,759
.300 km 418,555 544,122
.300 km 220,557 286,724
.000 87,500 87,500
.000 87,500 87,500
.000 87,500 87,500
.000 286,437 286,437
.000 513,121 513,121

2,096,620
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1.000 205,000
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